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	JUNIO 2015

	Diferenciación entre expresión e interacción:
	TAREA 1 INTERACCION: Use this extract of a claim form to report a domestic accident to your insurance company (125-150 words).

Personal Injury Compensation Claim Form
We aim to deal with most claims before the end of the next working day - emergency claims will, of course, be prioritised. The more detailed your description is, the sooner we will be able to deal with it.

1. Exact location where the accident happened

2. Detailed description of how and why the accident happened

3. Detailed description of injuries due to the accident (please specify if medical attention was required)

4. Detailed description of property damage, if any, resulting from the accident


TAREA 2 EXPRESION: Write a story for the Narrative magazine about a turning point in your life. Describe the circumstances, what happened, your feelings and the consequences, if any.
(225-250 words).

	Tipo de tarea:
	Tarea 1: Contenido demasiado cerrado y guiado. No se trata propiamente de una interacción, ya que el candidato solo tiene que narrar lo que se le pide en cada apartado. Formato??
Tarea 2: Narración demasiado guiada?

	Claridad de tarea:
	Tarea 1: El párrafo introductorio sobra, ya que en los puntos 2-4 se enfatiza que la descripción de lo ocurrido sea detallada.

	Posibles carencias:
	[bookmark: _GoBack]¿Cómo se valora el formato en la tarea 1 si ya viene dado en el ejercicio?

	Otras observaciones:
	




